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I. Compréhension écrite

Complétez les pharases avec: I” impression, avis, semble, ne crois pas, demande, pensez.
1. Amon (1) ...avis.., c’est une bonne idée.

2.Je1(2) csunsisna que ce soit facile.

3. Qu’est-ce que vous (3) ......... de ce projet?

4.Jeme (4) ......... si ce n’est pas inutile d’organiser une réunion.
5.7ai(5) ......... qu’il y aura des difficultés.

6.1me (6) ......... que c’est in;éressant.

Il. Vocabulaire

Soulignez les intrus.
Example : jambesbras thermométre bouche téte

. Cambodge Vietnam Laos France  Thailande
.docteur  professeur  ventilateur  ingénieur
présentateur

7. bananier infirmier caféier ~pommier  cerisier

1. développement pauvrement courageusement contentement librement
2.porc  mouton durian  beeuf  buffle

3. parler écouter aller regarder manger

4.le nord le fond le sud I’est I’ouest

5

6

lll. Grammaire
A. Complétez les phrases avec : “c’est pourquoi”, “donc”, “aussi”.

b
Example: Ma sceur ne connait pas encore Paris, ........ elle demande le chemin au policier.
Ma sceur ne connait pas encore Paris, ¢’est pourquoi elle demande le chemin au policier.

1. Il n’a pas le permis, ............ il ne peut pas conduire.

uSwingh 98 Ajun o9 g

2. Vous avez trop mangg, ............ vous étes malade.
3. Le pneu de sa moto est crevé, .......... faut-il le réparé.
B. Reliez les phrases A et B selon I’exemple
A B e
1. Si nous ne partons pas | a. visiter Angkor. l— d
maintenant,
'2. Je veux me promener. b. une des plus 2—» ...
Il pleut, hautes montagnes
du monde.
3.11amal ala téte. c. Il ne peut pas 3 .
réfléchir.
4. Les touristes viendront | d. nous allons étre — ..
au Cambodge pour en retard.

pour que

prennent bien.

5. Le Mont Everest est e. tant pis, je rest- 5 ..
erai & la maison.

6. Le professeur explique | f. les éléves com-
: 66— ...

IV. Expression écrite

Vous avez assisté a 'anniversaire (de naissance) d’'un (e) ami(e). Racontez ce que vous avez fait, vu et entendu pen-

dant la féte.
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I. Compréhension écrite

2. (2) ne crois pas
3. (3) pensez

4. (4) demande
5.(5) Pimpression
6. (6) semble

Il. Vocabulaire

1. développement/contentement
2. durian

3. aller

4. le fond

5. France

6. ventilateur

7. infirmier

Ill. Grammaire
A

1. donc

2. c’est pourquoi
3. aussi

S e
oD o o

IV. Expression écrite

1. Respect de la consigne
2. Richesse des idées

3. Lexique et orthographe
4. Morphosyntaxe

5. Cohérence

patgnan R E/MATENAN{AS

Baréme de notation
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l. Reading.

Read the text and fill the gaps with the words in the box.
Gap one has been done as an example.

() topay

() discussions () fire

( )originally () sports () converted
( 1) rebuilt () used () businessman
() money () indoors

Opening of New Sport Centre

The Champa Sport Centre, which has been completely (1)
...rebuilt..., was reopened yesterday by the Minister for
Sport. The building was (2) used as a market,
but was sold to Champa Council in 1981, and then (3)
......... into a sports hall. Local school played football and
basketball (4) ......... , and keep fit classes were held
there. In 2001 the hall was damaged by a (5) ............
which broke out in the heating system. The hall could not
be used, and remained empty while (6) ............ contin-
ued about its future. It was then decided that the hall
would be rebuilt, and an appeal for (7) ......... was
lunched. Two years ago a local (8) offered (9)
............ for the building work, and plans were drawn up.
The new hall includes a swimming pool, running track and
other (10) facilities which can be (11) by
anyone in the Champa area. The Minister made a speech
in which he congratulated everyone involved.

Il. Grammar.

There are four answers after each statement. Only one
answer is correct. Choose the correct letter a, b, ¢, or d.
The first one was done as an example for you.

Example: ...... - I go with you to the shops, Mum?
a- Will  b- May c- Would d- Won’t

1. Samnang works in the Post Office, ...............7
a-ishe b-isn’the  c- workshe d- doesn’t he

2. My father ........... in that firm from 1975 to 1989. Now
he’s retired.

b- worked

d- had worked

3. Which sentence is the correct one?

a- has worked
c- is working
a- [ am a cold b- I’ve catched a cold
c- I have cold d- I've caught a cold
4.1......... on a bench in the park when they ran past me.
a- was sitting b- have sat

c- sat d- was sat

52
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5. Thida ......... to the cinema if you went with her.
a-willgo  b- would go c-goes d- went
lll. Vocabulary.

There are four answers after each statement. Only one
answer is correct. Choose the correct letter a, b, ¢, or d.
The first one was done as an example for you.

Example: My parent often does ...d.. with people from
Korea.

a- affairs c- economy d- business
LAt ... time there is always plenty of work to do on

b- finance

a- production'  b-'profit = c- plant d- harvest
2. Itis against the ......... not to wear seat belts in a plane.
a-rule  b-regulation  c-law  d- order
3. Everything in the sale has been ......... to half price.
a-reduced b- decreased c- bargained d- lowered
- N [P to inform you that your grandmother died ten
minutes ago.
a- apologies b- sorry c-pity  d-regret
5. We were unable to reach an agreement because of the

............ between the two groups.
a- contact  b-concern  c¢- connection d- conflict
IV. Writing.
Write an essay. “Studying for Success” at least 80 words.
HIRAFMIRNHSIGaS
I. Reading.
2. originally 7. money
3. converted 8. businessman
4. indoors 9. to pay
5. fire 10. sports
6. discussions 11. used
ll. Grammar.
l.d 4.2
2.b 5.b
3.d
lll. Vocabulary.
1.d 4.d
2: ¢ 5.d
3.a
IV. Writing.
1. Content
2. Grammar
3. Spelling
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